AP Exam Practice Problems 2.1 —2.4
1.If f(x) =x+2x-3 , then f'(x)=

3x—3 —x+3 5x—6
(A)

NJ2x-3 ® % \/ © \/2 -3 S ot V2x-3 ®) 2N2x-3

2.If f(x)=—x3+x+—l— ,then f'(-1) is
x

(A) 3 ®) 1 © -1 (D) -3 (B) -5

3. %COSZ (x3) =

(A) 6x*sin (x3)cos (x3) (B) 6x”cos (x3) (C) sin® (x3)

(D) —6x°sin (x3 ) cos (x3 ) (E) —2sin (x3 ) cos (x3 )

4. An equation of the line tangent to the graph of y =cos(2x) at x =% is

(A) y—1=—(x—%) (B) y—l=—2[x—%) (©) y=2(x—%)
(D) y=—(x—§j ®) y=—2(x—%)

5. At what point on the graph of y = %xz is the tangent line parallel to the line
2x—4y =37

) [— ——] ® )( j © (L—%j (D)'(l,%) ® (2,2)
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6. The graph of the derivative of f is shown in the figure above. Which of the following
could be the graph of f ?
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7.1f f(x)=x+sinx,then f'(x)=

(A) 1+cosx (B) 1-cosx (C) cosx (D) sinx—xcosx  (E) sinx+xcosx

8. If f(x)=i—: forall x#—1,then f'(1)=

@A) -1 ®) —% © 0 D) % ® 1



9. If y=cos®3x, then L
dx

(A) —6sin3xcos3x (B) —2cos3x (C) 2cos3x (D) 6cos3x (E) 2sin3xcos3x

10. If f(x)=(2x+1)", then the 4™ derivative of f(x) at x=0is

Aa) 0 B) 24 (C) 48 (D) 240 (E) 384
_ dy _
11. If y= " z,thendx
—6x 3x 6x -3 3
A C — _ (E) =—
( )(4+x2)2 &) (4+x2)2 ( )(4+x2)2 " (4+x2)2 & 2x

12. If f(x)=x,then f'(5)=

@A) 0 ®) % © 1 ®) 5 ® 2

13. If y=cos* x—sin’x, then y'=

A) -1 B) 0 (C) -2sin(2x) (D) —2(cosx+sinx) (E) 2(cosx-—sinx)

14. —d-(%-——l—+x2) at x=-11is
dx\x x |
A) -6 B) 4 © o D) 2 (E) 6

15. If f(x)=ju%,men f'(-}):
X

(@A) 2 ®) —‘2- © 1 ®I1 ®1-Z



